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Which Article of the Indian Constitution

defiance the duties of the Chief Minister?

(1) 163 (2) 164

(3) 166 4) 167

983c0h RoNTIR ot eaabeéed@
maqﬁﬁ;o%qh ﬁé?dﬁm}a}& aaéa)aébrxbgzﬂ?

(1) 163 (2) le4

(3) 166 (4) 167

In which part of the Indian Constitution
there is a provision for the establishment

of the State Public Service Commission

and the Union Public Service
Commission?

(1) XIV (2) XI

(3) XII (4) XVII

2700860 BoNGFSW odea YN Towy
Seecddeme esodeent SHd) 300@ Srcdseme
exoleentd ﬁgﬁ?&ﬁ 93537

(1) XIV (2) XI

(3) XII (4) XVl

L-52-2 C

Which of the following is not matched
correctly?

(1) Article 312 : Provision of Public
Service Commission for Union and
States.

Article 316 : Appointment and
tenure of members of UPSC.

Article 320 : The functions of
Public Service Commissions.

(2)
3)

Article 317 : Dismissal of members
of Public Service Commissions.

EINIJHNSD odePd BdoIPA
BRoDEIRTHROD?

(1) esdeded 312 : deod, D vozrort
dmeﬁ;‘-q’em erodnenid evzewod.
e:aab%ed 316 : UPSC z@&3
Sezd DI DTTIBY.

SEVARS 320 : Gecdicee eroleening
BBODLENRD.

eﬂﬁazgetﬁ 317 : Secddcs rolecenins
RBRTI), BRI

(4)

(2)
3)

(4)

Who was the first women Speaker of
Karnataka legislative assembly?

(1) Smt. Margret Alawa
(2) Smt. Motamma

(3) K. S. Nagaratana
(4) None of the above

dooee3d DpedRod Bede Ddbwe 2,c30°
odeth?

(1) &3 JereBeess )

(2) D3 Beceasd,

(3) 3 ox° 8

(4) HedIJInFY abwIde @

P.T.O.
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S Which department publishes Economic
Survey of Karnataka every year?

(1)  Finance Dept.

(2) Chief Minister's Office

(3) Planning & Statistical Dept.

(4) Revenue Dept.

33T BB ‘-N"smeuﬁ;od)d; S3JRE oo
awsd &3esDH3?

(1) Bz sl

(2) Soxod, wodeeood

(3) deexmd ) weodd avess

(4) 3Boweod wewsd

6 What is the program implemented for the
purpose of promoting entrepreneurial
excellence and innovation among the youths
in India?

(1) Atma Nirbhar Abhiyan
(2) Startup India

(3) Skill India Mission
(4) Digital India Mission

3700380 0dnSITY Uum’édaéwaa n’aeadab%
£a§jz’en 203 m&eaﬁéa’odadg* w%eaﬂ:ﬂad

ugie3hon 25drlevaRTRE soode 3D odpgh?
(1) &3, AT DHodoat

(2) =pefrern® aodode

(3) 2,o° wokode &EH®

(4) Be3e® wodode NII®

L-52-2_ C

On which principle does Panchayat Raj
institutions operate?

(1) Democracy (2) Dictatorship

(3) Monarchy (4) Centralization
ol 3%{3 eso0n shedd Doweodz®Tess®
ﬁo:‘mq'ﬁﬂa 5o0dhE Dade dr03ed?

() @y
(3) ovomzeh3 (4) Beod 33

SHIKARAT.COM

(2) =ReeepzT

Consider the following pairs:

Revolution Production

A. Green Revolution Food Production

B. White Revolution Milk Production

C. Yellow Revolution Fish Production

D. Blue Revolution Edible Oil
Production

How many pairs given above are
correctly matched:

(1) Only one pair

(2) Only two pairs
(3) Only three pairs
(4) All four pairs
39N RecdRL, SORd:

5,03 SN DXL

A. 3D 5,03 TV VISV TS
B. 8¢3 503 T SVUIVTI

C. 29D ®03 e VI T3

D. dcd 508 T 3© GVITI

SedI eclnrdd) aﬁ% Becdnsh RDodeA
Fpeoddodphss?

(1) eotd docd 303,
(2) 20D ek w03
(3) Fedh teed 93,
(4) oo decdnrish

P.T.O.
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In a house, a 60 watt electric bulb is
used continuously for 6 hours. What is
the total electrical energy consumed in
kilowatt-hours (kWh)?

(1) 0.06 kWh (2) 0.36 kWh

(3) 3.6kWh (4) 6.0 kWh

2ot DH3obd 60 woese A DRIy, 6
Totdn? 20 wIRRIZY. s O30 o
ATy Bodby vBoleeNRoRrHIE,
(kilowatt-hours R9®)?

(I) 0.06 kWh
(3) 3.6 kWh

(2) 0.36 kWh
(4) 6.0 kWh

In a family, there are six members A, B,
C, D, E and F. A and B are a married
couple, A being the male member. D is
the only son of C, who is the brother of
A. E is the sister of D. B is daughter-in-
law of F, whose husband has died. How
is E related to C?

(1) Sister
(3) Cousin

(2) Daughter

(4) Mother

wod wewownd A, B, C, D, E 3 F
Q0w &B) FBRDEYY. A DFH B e
Boadn. A odo HHR FARHNDZRS, A 3
RBpertIndE C 3 wyde 31 D. D 3
Z3eeEd E. B oo F 3 Aedcdendize?, F 3
28 FHZoendhzed. E odo € 7§ @ert Rowod?

(1)

(3) Reedd Rowod (4) @odd

RBRTD (2) Snd

L-52-2 C
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What is the nature of work done on an
object in uniform circular motion?

(1) Zero

(2) Positive

(3) Negative

(4) Depends on the particular situation. ’

230RBB FP0T Bododd LAY e
R00T 3073 ZRAB HWAIS,

(1) 3w
Q) P33
(3) abwes 3

4) DETF c“ab?g@ab Ded eBecDach3n

If the velocity of an object is doubled .
then - -

ey
)
3)
(C))

its kinetic energy is doubled

its potential energy is doubled

its momentum is doubled

its acceleration is doubled

200 BRDI JeRBI), Qroerkevadd -

(1) edU B3 33 Qroeorted3d

(2) ©u8 IS B aroerted3d -
(3) ©ud usen Qrosrtedy3d "
(4) B8 Jn 3PS Groertehds

P.T.O.
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The Vienna Convention for the protection
of the 'Ozone Layer' was adopted in
which of the following year?

(1) 1944 (2) 1985
(3) 1995 (4) 2005
Ledpea® SRR ﬁoﬁﬁﬁﬁﬂ RowodaRod oday,
2ROBRIY, obes SRV I5RRARYTPAND?
(1) 1944 (2) 1985
(3) 1995 (4) 2005

Salts of sorbic acid and propionic acid
are used as?

(1) Antioxidants
(2) Flavouring agents
(3) Food preservatives

(4) Nutritional supplements

ET ) BDR) PR eaoleeds e eVBty
&R 09Reerd3d.

(1)
(2)
(3)
(4)

evdweed B3
hed onoPsed
€5300 ﬁoﬁiﬁﬁ@a

308 FogE03

Which of the following is used in beauty
parlours for hair setting?

(1) Chlorine (2)
(3) Phosphorus (4) Silicon

Sulphur

229,t3 TROETIY Berien FOSRRED (setting)
85 $9A3 adRFHBI), WIDI?

(2) 7Roghd
(4)

(1) 3Zpcda®

(3) Dozs 2,0FI°

16

17

Consider the following pairs :

a. Gold - Metal

b.  Sulphur - Non-metal

c. Silicon - Metalloid

Which of the above is/are correct?
(1) aandb only (2)
(3) bandc only (4)

89N decRnEd), Beodd:
a. 48 - decx

¢ only

a, band c

b. RYo® - vdecz

c. 29%F - DLwddE®
$ed3 odeRFH/nh =B?
(1) axd3 b a3 (2) c &3

(3) bdDcIN (4) a bdDHc

Which one of the following is the context
in which the term 'qubit' is mentioned?

(D
()
3)

Cloud Services
Quantum Computing

Visible Light Communication
Technologies

Wireless Communication
Technologies

(4)

83 393 adns BodIe B HYE® I8
WIRRRIE?

(D
()
3)
(4)

596° ADERT NED

5083D° B0 Edon®IY

ReeeddRDas W93 ToSTS 30323 INTD
30303 R03BI :éo%es%&ﬂﬁ%@

P.T.O.
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18 Two position of a dice are shown below.

Which number may appear on the
opposite of the one having 5?

3 3
1 2

Which of the following possibilities are
true?

L. 1

Im 2

1. 4

IV. 6

(1) Either I or III
(2) Either III or IV
(3) Only III

(4) Only IV

83 891t RYNRY T TRIBI, JecdrINT.
5 B a8g odes Bos) seedrdegumind?

3 3
1 2

33 A3 0IPA RoyRFRD TDoPNS?

I 1

. 2

. 4

IV. 6

(1) I eogee 111
(2) I egeoe IV
(3) &3 I

(4) 330 IV

L-52-2_C
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Directions : [ (». H and K visit a7,
hospital on week days Each one of them,
is a physician, surgeon, dentist,,

cardiologist, nephrologist but in the
random order. Fach visits the hospital
only one day in the week and attends to:-
the profession only. Consider the
following information and answer
questions based on it.

[.  The physician visits hospital every
Monday. :
[I. E is the cardiologist who comes’

neither on Tuesday nor Thursday.
III. K is a surgeon and G is not the
physician.
[V. The doctor who visits the hospital
on Thursday is not a nephrologist.
V. H works on a Tuesday and K works
on the following day.
Who is the physician?
(1) E (2) F
3) G (4) H
dee3d3 : E, F, G H D) K 5033 a3rgd
B3R 233 DeRT]B. BHDrIFY i IR

SHIKARAT.COM

»285° (physician), 3xes®, To33 T,
BRIy, Sedod aam,i,ﬁ dﬁd}aatﬁ

w&&iﬁwdfa mdd@ 2,00 fb"* Je3 33N

z.ieéa K)ezi)aa_,ﬁ P 3,331 BowverieT.

& 9AS3 RnHIoLI, IBRBL DR @3

208 Hedd %@aﬁ V3D

L. ARRI® B3 Apesheed FRIN 2lesd
AezzT.

II. E odw D[RR NR, a3n |
onGTBN 9Fze Rddmend
WAPAY. e

III. K od» 3zea® N D) G oln 2288
SlglevnTalol

V. Rdhawd 33 weed dedad F3
m%&odé%, TIARDHDL.

V.  H Dondaed dor Iedxd D K
aly HHaS dor JedFes.

83 IINIIDNLY 2R oech?

() E Q) F

3) G (4) H

P.T.O.
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(Question no. 20 and 21) : Study the following
paragraph and answer them accordingly:

In a car exhibition, seven cars of seven
different companies viz Cadillac, Ambassador,
Fiat. Maruti, Mercedes, Bedford and Fargo
were displayed in a row facing east such that:
[.  Cadillac car was to the immediate right

of Fargo.

1. Fargo was fourth to the right of Fiat.
[1I. Maruti car was between Ambassador and

Bedford.

IV. Fiat which was third to the left of

Ambassador car, was at one of the ends

while Mercedes is at other end.

®os3, 20 3 21): 3SNS 9,003, Ee0bR Bk
DB €003 GLID:
20D BRNG FWIEIBY, DD DG 3oBINT
D RRND Q0BT RCE®, oLRRB0, HobEst,
SRS, DREBE®, SEPpcrts D) TRRENIIY
BPIE §, Bweoaed §9NI03 ReeBRTNT.
[ sriees 33°3md w3 soneRs® w3
303.
Il &odhes*3 wed eele m@aﬂde} DR RE TV WL,
I, es0epado® D3 WSwBecrtens BS I3
500 L3,
IV.  eowprdo’ 203 oryend Swdde mesnd
Hobex® @), word deIohdPgd, Dredw®
BDZotd EeSodd,

L-52-2 C

20 Which one of the following groups of
cars is to the right of the Ambassador
car?

(1)
2
3)
C))
BRI odnE 2OI THom) 902PRBTE FDI
2OPRBDS?

(D
)
(3)
“

Cadillac, Fargo and Maruti
Maruti, Bedford and Fiat
Mercedes, Cadillac and Fargo
Bedford, Cadillac and Fargo

PR, Pories DY) IR
R0008, WEtPperts DI Hobes
DRERES, BT DI Poriee

I Bperte, BRAORE DY) Porler

21 Which one of the following is definitely
true?

(D

Maruti is to the immediate left of
Ambassador.

Bedford is to the immediate left of
Fiat.

()

(3) Bedford is at one of the ends.
4)
3INIFNRLO o ATeen JweNE?

(M

Fiat is second to the right of Maruti.

0LPNABTI Sseisatj @ddarbﬁ@&i@
[he arl.

(2) &obes® 33?3600 BRI

et dperte add.
(3)
(4)

Wt Pperte wod 430

Jehaoh werend 8BSe @dd@
&obes® gl

P.T.O.
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22

23

24

Find the missing value?

/N YN N

(1) 25 (2) 3?
3) 41 4) 47
e, B/RCT wéodo& 3or&BBND?

A/\/\

(1) 25 ) 37
(3) 41 4) 47

Find the missing values ?

2[5 ]10
17| 7 137
50 [ 65| 82
(1) 20 2) 26

3) 27 4) 32

Dep Bect ISodb), doRBAND?
25710
17 ] 2 [37
50 [ 65| 82

(1) 20
(3) 27

(2) 26
4) 32

If “all dancers are singers” and “some
singers are girls”, which of the following
statements would be definitely FALSE?
(1) All dancers are girls.

(2) Some girls are singers.

(3) Some singers are dancers.

(4) Some singers are not girls.

'DeR IZr0DH FAMTD" DY ‘30
BIRIMICD BBNoIHD' 38, NI odeld
BePdnsh Js0T0wen SwmNdoZ:s?

(1) oo JFredth Aot

(2) 30 RERNOLTD BRITTD.

(3) 303 mRMTD JFMevdh.

(4) 30z rMdD Phobde.

L-52-2_C

25

26

A cricket team of 11 players is to be
selected from 13 players; 4 of which are
The

number of ways to select the team,

bowlers and 2 wicket keepers.

consisting one wicket keeper and at least

3 bowlers is

(1) 8 (2) 22
(3) 112 (4) 110
4 PootRe P 2 IF  3e30NRIR

29 00RDR 13 ese3resdonr, 11 ereredsy,
WIRROBDR 3,363° J0BSI, rORRIFAT. 20TH
DT P 3 3 2RI, BpodHS

30BRIY, OB ADD AFIINT Roa5adw
(1) 8 2) 22
3) 112 4 110

The number of times the digit 5 will be
written when listing the integers from
1 to 1000 is

(1) 271 2)

[§9]

72
(3) 300 4) 290

| o8 1000 B3NS Zemee 3re Dedderdesenrt
0% 5 obFY AR wed wBohesrd3d?
(H 271 2) 272

(3) 300 4

P.T.O.
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27

28

Which of the following elements are used
to block direct current (DC)?

(1)
(2)
@)
4)
83 39N ©oBRYY oIPRFD I3
DT FBIRY, (30K°) Srdadben
WIRRTOIS.

(1)
(2)
(3)
(4)

Resistor
Capacitor
Inductor

Transformer

Why are internal partitions provided in a
diesel tanker used for fuel transportation?

(1)
(2)

To increase the fuel capacity

To enhance the appearance of the
tanker

To reduce fuel sloshing and to
maintain vehicle stability

(3)

(4) To allow faster re-fuelling at

stations

BOPIBY, TARED BERO® £3,080°R9Y wINI
NIINGD), 0 IedeRrdded?

(1)
(2)
(3)

BORIB TP, I BB,
£59,080°3 BBy DodREIRED.

ROBIE BDEEIR, 3B SR B

SOBIB %da’obdgl eUPRERYED.
(4) FRFRIO RoPIB PoeeI8E o

Seriaa, SR,

L-522 C

29

30

In multi-storey buildings, which of the
following device is commonly used as a
smoke detector?

(1)
(2)
(3) Transistor

(4) Photo cell

B DBBNY WIBRIY, B3 39T o3
PSS, eI emen Beriobhy
30BBB0NT TPIeN WIRDIHIE,

Fire alarm
Solar cell

(1) eon, wofe

(2) =déec3 =T
(3) PIRT® =TS
4) Bpcdrdef =PI

Which scientific principle best explains
the working of a perfume sprayer, where
liquid perfume rises and disperses as a
mist when the sprayer is pressed?

ey
)
(3)
)
JRR, F° },000°39, 3§ obo® wdwert 33
SRR, FR° Dewd 2 Toewd (Wr?) TRBT
BVDZ. B3 3odob) VSN IOV
8 33obeRh?

(D
(2)
3)
)

Pascal's law
Archimedes principle
Bernoulli’s principle
Newton's third law

TIROTI dobd

3E DRI AR03
W3deeedod k:mgoé
383°3 Swedde dobed

P.T.O.
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Match List-I and List-11

List-1 List-11

a. Primary Fiscal Deficit —
Deficit Interest payments

b. Revenue Revenue
Deficit Expenditures —

Revenue Receipts

c. Fiscal Total Expenditures —
Deficit Total Receipts

d. Budget Budget deficit +
Deficit Government's

market borrowings
and liabilities

Select the correctly matched concepts

from the options below :

(1) aand b only

(2) b and c only

(3) c and d only

(4) aand d only

Be3-1 3 Beg1l Smodrt Aeod

Je3-1 Bey-11
a. BB 1 deedeod 34T3 —
#0033 208 Roweodnied
b. 3Zoweod : Bowead 32 — doweod
3003 Qe 3nh
c. Zncdeod D2k iR —
2033 20t ReFIRD
d. eob-Fod : eob Fob 803 +
2033 R50e08 [5chde]
QBBenrish DR
BRBredin

39AS erodivorn Xdolen @eoddodrds
2D3BobIy DR,

(1) a3 b e

(2) b D c 3N

(3) c B d I,

(4) a3 d I

L-52-2 C

32 Match List-I and List-11

List-1 List-1I

a. M1 : Currency with public,
i.e., coins and currency
notes + demand deposits
of the public; also
known as narrow money.

b. M2 : MI + Time deposits of
the public with banks;
this is also known as
broad money.

c. M3 : MI + Post office saving
deposits

d. M4 : M3 + Total Post office
deposits

Select the correctly matched symbols and

definitions from the options below :

(1) aand d only (2) a and b only

(3) band conly (4) c and d only

Be3-1 DBy Be3-11 I, Beod.
Be3-1 Je3-11
a. 0 1: BenI3 PR 38, 2083
(M1) SR T 30 Jecenid
+ TRE BRI L3end BeRearnh;
3Dod (¥9) SReced Beo
QOWR AB 3o
b. 20.2: oo 1 (MI1) + EAPKEL gt
(M2) WIADR OREBIT 9RO
BeRedRD, TN (@Beg
BRPET) B DR D 3PVOD
ENT NI AY
C. 0. 3: 0.1 (M1) + 9023 3e3cd
(M3) VIO BeIedneh
d. 90 .4: o3 (M3) + wep) @0
(M4) gededad BeRednsd
83 39N erodyRPord TDoLPN BrodIodrdR
DedI BRI FTone 3 INIF), O,
(1) adddhdRe3 (2) a3 b 3w
(3) bI3HcHIng (4) cDFHdING

BT
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Which of the following statements are
true regarding the National Social
Assistance Programme (NSAP)?

a. The NSAP is a welfare programme
administered by the Ministry of
Rural Development.

b. The NSAP is implemented only in
rural areas of India.

c. The NSAP is a welfare programme
that provides financial assistance to
the elderly, widows and persons
with disabilities.

d. The NSAP is implemented in both
rural and urban areas of India.

Choose the correct option below :

(I) aand b only

(2) aand d only

(3) b and c only

(4) a.cand d only

m%}eoﬁa R8I0 sobe 3R,

(NSAP) zRowohatod &8s 89AS obead

BePER ADodPNAE?

a. NSAP oo moevess eaapaé'% AP¥Deodd
eR0DH FOHE JVEHRZTH 2,06
3R B0E BN

b.  NSAP 3y 29333 mooeeo B3e3ndd)
303, e9DERIRRPRONT.

c. NSAP o Sodeey, HSodhd worie
Q303330 BeooRn ITIIY wBNAS
20w 309 soobe 3eeNT.

d. NSAP oDy 20T33 TP e HoTiR
313 Be3nddrTen
@SR PTRRAT,

B9 39NI RD0IRT erod,ohI) DR

(1) a a3 b @33

(2) a3 d3ng

(3) b &) c 3wz

(4) a, c D3 d 303,

L-52-2 C
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34 A study of the growth rate of India's

population is divided into four phases :
a. 1891-1921 : Stagnant population
b. 1921-1951 : Rapid High Growth
c. 1951-1981 : Steady Growth

d. 1981-2001 : High growth rate with
definite signs of slowing down

Select the correctly matched phase with
its corresponding years from the options
below :

(1) aand d only

(2) aand b only

(3) b and c only

(4) c and d only

RT3 wIRoadob LS BT 95 0HIBIY
e, BRI HoREB RPERNT.

®

1891-1921 : 33 wszos),
b.  1921-1951 : Bes, esp3 e3dedn

c. 1951-1981 : 33 (Berss @ww)
233edrt

d.  1981-2001 : dpesRschd 3nG doeR
Rode3oobrt a3 WSt T3,

83 $IRI ORIV W3 Tosed
IReNAodT BOOIA B0t BoI3IJY,
D8y

(1) a3 d w3
(2) a3 b 3N
(3) b ¢ In3,
4) ¢ D3 d=ng

P.T.O.
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35 Which of the following statements best
describes the role of Foreign Direct
Investment (FDI) in developing
countries?

a. IFDI flows represent long-term
investments made abroad,
bringing capital, entrepreneurship,
technology, managerial know-how
and sometimes market access.

b.  FDI is often viewed by developing
countries as a key catalyst for
economic development.

c.  FDI mainly involves short-term
speculative investments and has
minimal impact on technology
transfer.

Select the correct option :

(1) Only a (2) Only b

(3) aand bonly (4) a,bandc

ODNZH BT Be3RIOI dded IeT

28 (FDI) o333y, 83 83n3 abss a5ePdnsh

UBRePN DRVRI3.

a. FDI 803ns auedtd swdent
DEFFRERD RPBINTI)Y, WoBT,
UGBS, 303203, JDE BDO
B oleend 239 I3 338, e
3oy Be Jedhde] SBe3S
3300

b. o939 BRoWIZTIR Be3ndh, BOF)
motiedenied) FDI ob) esped e.ae;)&fb%od::
3080 SenBPeBazoN 4PAWII,

C. atiede 38 @pdiodn, JRvoTeN o)
- 503 ?’aea%ajaémdcﬁ BPBENII),
29780030 Torie éo%a@ﬂ 3
Sree3Boh g DB JomeD
D33,

RoodRd erohodd) oA

(1) a @3»g, (2) b &eg

(3) az® b 3wl (4) a b D ¢

L-52-2 C
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a.  Phillips Curve : It is a graphic curve
that advocates a relationship
between inflation and
unemployment in an economy.

b.  Stagflation : It is a situation in an;
economy when inflation and .
unemployment both are at higher
levels, contrary to conventional:
belief.

¢.  Demand-Pull Inflation : It is af
excessive creation of money -
increasing money flow or money
supply in the economy. .

d.  Cost-Push Inflation : It is a creation
of extra purchasing power to the
consumer over the same level of:
production (too much money’
chasing too few goods).

Select the correctly matched above

definition from the options below :

(1) aand bonly (2) b andc only

(3) cand d only (4) a and d only

a. 29z Sead : wd &prd IJIF0II
BT DB ITTRETT Ty
TowoFRIY 03 HAcNE Treaed, 3T

BeaSodond. i
b.  owed 3w (Stagtlation) : Smd:&;ﬁﬂ
MR S leuatolygiaisiela Vo) g3

RIRIYwert TooB woodhd IoDERPR”
&)d)ngaatﬁ erBed RoBedesn.

C. 2Jebrd I3 SE@C&J?%CE P 2R Ber
3 YUZZodeAry @Re3Zodhd Beard
BD0INNE 2P BT FpRT 2ad
GADTAVLY

d.  Bi-3930d Beetdey 3 cwIIad
ed ea%e AR, T,V @3
dpordedDdod 33 RPN
(28 B By doaSe IVDRIJY
202 IDIJHRD).

83 39N rahivord DedI w909, 33y _

ZDOION BRoDADIJTRY, B! -

(1) axdhbang (2) by c w3
() ¢ B dIN3 (@) aIH d 3N
P.T.O.
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37 According to A.K. Sen. famines occurred
in India because of -

(1) Tack of proper distribution
mechanism

(2) Lack of demand

(3) Lack of transportation

(4) Shortage of food grains

Q.8 A ©I0 IFT, LRTITY BAND 08

20LITH) -

(1) =dodead 23T obePIIT E0083

(2) Sctrdod 3033

(3) =o0on 333

(4) esm=0 DINY 883

38 Consider the following statements :

i.  Climate change is primarily high to
the per capita annual emissions of
Green House Gases (GHGs).

ii.  India is one of the most vulnerable
regions in climate change.

iii. India has 75 Ramsar sites for
wetlands.

How many of the above statements are

correct?

(1) Only one (2) Only two

(3) All three (4) None

NS Besindd), Torie:

1. BIBS WETRIB0IN [
2@*end (GHGS) (82883 e2den?)
B0 eR&E 3 BRATAMRDIBODY, BPAIE.

. 2R033) BoeRRs wioeRohd &93603
her e Siedndd 2.0mend.

ili.  PTIBG ePrdRIRYOmRR 75 ToRED
Foeani Pl

3 D) Bevdnish IDobeNS?

(1) woth I3, (2) 8D PAVE]

(3) oo e  (4) odedD) oo
L-52-2 C 13

39 Consider the following land reform
policies :
(i) It reduces disparities in wealth and
income.

(ii) Larger land holdings are reduced
to smaller size by imposition of
ceilings.

Choose the correct answer from the
options given below :

(1) Both (i) & (ii) are correct and (ii)
is the correct explanation for (i).

(2) Both (i) & (ii) are correct and (ii)
is not correct explanation for (i).

(3) (i) is correct but (ii) is incorrect.
(4) (1) is incorrect but (ii) is correct.
81 39R 4l DT eIy TORBL!
(i) RoBY) D) mohBdI
RRPIBAIR) 0D FPRIS.

(il) ozoemd we HRJIINRIR), ITIRIQ
D30I HHDR Sweed 33l
'a%ea?hgd.

891t dedend erahniPvon RBokRE IR

DL
(1) @) ab@g (11) 20RBR» mdDalenS daa’g (1),
A (1) 3 ADobed dRTBadend

2) (i) b (i) adRe RoabRASS ) (ii),
ad (i) 3 Boobed d3vBabe.

() (i) RoowPAT &ad (ii) AT,

(4) (i) S rdd (ii) ROAkRAD,

P.T.O.
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40 Under Antyodaya Anna Yojana of the

Government of India which one is not

included?

(1) Poorest among BPL are identified.
(2) 25 kg of foodgrains are made
available to eligible families.

(3) Nutritional intake of poorest

families are estimated.
(4) Foodgrains are distributed at a

subsidized rate.

y08 RBETT Wodperdod e odeexsob

sBob iR BRHHDE?
397 eBdeRn ROOIRE GVITHY SO

(1) D.&.a0f. (BPL) 3redds w3303

7B RERRFH.

(2) 25 82 590 PJNIY OBE

Hepownen e)z,iﬂaarba}oé SRR,

(3) B8 depons ﬁa.ﬁé% We3ohIy
€500 SR,

(4) es&eT ma%ﬁf}aig* EepleNvan R alelal)
DI3BRHBT.

1-53-2 C
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Consider the following statements :
Assertion (A) : Constitution is different
from constitutionalism.

Reason (R) : Constitutionalism connotes
limited government, but Constitution may
have words of dictatorship as law.

Choose the correct answer from the
options given below :
(1) Assertion is true but Reason is false.

(2) Both Assertion and Reason are true
and Reason is the correct
explanation of Assertion.

(3) Both Assertion and Reason are
false.
(4) Both Assertion and Reason are true,

but Reason is not the correct
explanation of Assertion. "

39AS BePIRTI, IDR!

BDPES (A) : oI BodFTeS,d Bb3
?uc:igod&ao@} DFFNT.

%0 (R) : Rodpemed,d B203 RLI03D) 203
FPETIIY FRVRZT, ¥TT ToDGTIIH)
53RN ReIE RTTT IRNLIY, BRODTWIRTD.
391 eBDR PoBHRYoB DR IBII
D!
(1)
(2)

RDFES BDoIPNG &B3 580 3TN,
500 DI ADFES 0B FDALRA,
DR T FPEJoh BOIRD
DIBBoING.

(3)
(4)

RDPES ) 23 a0ERe ITWP.

ADPES D) 58 0@ DRI,
&R0 30my) IPFEIoD ID0INRT
DS[TB L.

P.T.O.
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42 Match List-1 and List-11 and choose the

; A . 43  The right to free education is specifically
correct matching from the code given

below : held in -
List-1 List-11
A. Directive 1. Scheduled

Principles of Areas (1) Unni Krishnan V. State of A.P.

State Policies

B. Fundamental II. Uniform Civil

Rights Code (2) A.D.M. Jabalpur V. S. Shukla
C. Fundamental 1II. Abolition of
Duties Untouchability
D. Fifth Schedule IV. Respect for (3) N. B. Khare V. State of Delhi
National Flag
Codes :
(1) A-L B-II, C-III, D-IV (4) Balakotiah V. Union of India

(2) A-IL B-III, C-1V, D-I
(3) A-IV. B-II, C-III, D-I
(4) A-II, B-1V, C-III, D-I

enedd Bieazj éﬁgdg{ Iﬁagf.gaah g3 39A3
E’aég-l B3 a’sb%e-ﬂ 20 ™RoDLH BN 9

20635053 Rodearivon B0 eudday eohARa: B3B8 BedeAT -
Be3-1 Bege-11
A. Togg dedod [. e
Ndeeds 33r SR (1) o), §ge® oy 2.2, Tozy
B. Zwenied II. »¥8ex Fo10s
i Fote3 (2)  Q.8.00. wepv® DG d.a7F. B@
C. Soories I, o7 gdob | : U
33e s rieh Deher o
D. o83 odbres IV. m%@mﬂﬁ afiety @ s S 89 o
Ao~ al-oR

(1) A-L B-II, C-11I, D-IV
(2) A-IL, B-I1I, C-1V, D-1
(3)  A-1V, B-1I, C-111, D-I
(4)  A-IL, B-1V, C-II1. D-1

(4) wpoodaciady T 2Pd3d wd

L-52-2 C 15 P.T.O.
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44 Match List-1 with List-11.

List-I List-11

A. Doctrine of 1. State of Madras
Waiver V. U. G. Rao

B. Doctrine of II. Depachand V.
Judicial State of U.P.
Review

C. Doctrine of IIl. Beharam V.
Severability State of Bombay

D. Doctrine of IV. RM.D.C. V.

Union of India

Choose the correct answer from the
options given below :

(1) A-IIL, B-II, C-I, D-IV
(2) A-1, B-IIL, C-II, D-IV
(3) A-II, B-I, C-IV, D-II
(4) A-1, B-II, C-TV, D-III
Be31 3 9311 dedd Beodrd:
B83-1 Beg -1

A. o088 L

Eclipse

‘{5}@&39 &® DUYR®

?umgoé é:)d:cg 2.8, oon®

B. a‘eéodmoﬁ II. Bezesoon ;)dacg
DIVIdeedsd  Feer oP° oln.&.
2,203

@

C. adondse I11. 238005 ;)tbtg
z;mgod -ngeass e2® 20083

D. e doe IV. e50%. 0ad®.8.2. ;:)cb:g
R:mgo:% oheoDHR® erg® wodole

397 BT BohRvor ROOIRT LVITBIY
erDR!
(D
(2)
(3)
(4)

A-111, B-1I, C-I, D-IV
A-l, B-III, C-1I, D-IV
A-I11, B-1, C-1V, D-II
A-1, B-11, C-1V, D-IlI

L-52-2_ C
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46

Which one of the following writs should
be issued to produce the detained person
before the Court?

(1) Mandamus (2) Habeas Corpus
(3) Prohibition (4) Co-warranto
ol DEF 230D RPRTIN o3I ﬁééob;&;
mﬁod)aeobd S0t BeeBrRdRHRTOZE?
(1) Beoeras (2) @eDobs® DR’
(3) Hpcodas® (4) 3Zpesdoednc

Consider the following statements :
Assertion (A) : Parliament may make
laws for the whole or any part of the
territory of India.

Reason (R) : The Legislature of a State
may make laws for the whole or any part
of the state.

In the context of the above statements,
which of the following is correct?

(1) Both Assertion and Reason are true
and Reason 1is the correct
explanation of the Assertion.

Both Assertion and Reason are true
but the Reason is not the correct
explanation of the Assertion.
Assertion is true, but Reason is
false.

(3)
(4) Both Assertion and Reason are
false.

29N BePIRTRy RHd:

AP (A) : oY) RTIT 2wed), T
335939, W3 odedrerdte wenEnRd
BIRINSIY, BeInR.

%860 (R) : 20td ToxB s FordeD
2063), 00235, 950 WY cdeIwerte
PRERNREO BININRTI, TWRWR.

$edI BePIRT BRIV 2FZSodd
2Dobed eV3TBI), esdD:!

(1) % DI IDFES TR TOPAS,
D TR FDFeIodh BdoIRT
QRTBoIPNG.

RDPES D) T TR IO,
RT3 50w INFe30dH BD03RT
QDIBBodbY.

AP S BD0INE &3S 500 3wNE.
IDPeS D) 5080 20BR S9Nl

P.T.O.

(2)

(2)

3)
4)
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47 What is not true of South Africa?

(1)

(2)

3

(4)

It produces twice the steel
production of the rest of Africa.

It produces more than 70 percent
gold of world.

It produces 50 percent electricity of
the continent.

It has the highest density of
population in Africa.

B30 e 50 HOD oIRFHD JwRe?

(1)

(2)

(3)

4)

VD €T POLTPRBE VB B3
eV,No38 ST Jey aed) evd,
VDI,

ard =R 3edme 70 3,08 ) IR,
VBB,

amY Ypo®T Jedmod 50 oay,
ad%zé)gobé& eV BRI,

QD 2 TTSe tﬂ%fpﬂ %Sz Boby
BRODT.

48 The major crops grown on red soils in

India are -

(1) Wheat and Rice

(2) Tea and Jute

(3) Jowar and Ragi

(4) Wheat and Cotton

yRTZRQ) dory g 2IFodned BeEnsd 23InD.

(1) Reep D3I 233

(2) #Bme DI Feoen

(3) 2eed D) T

(4) Aeed D) B3
L-52-2 C
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e

With reference to Delta formation,
consider the following processes:

A.

B.

8

Decrease in river velocity as it
enters into the plain region

Coagulation of clay particles due
to salt water.

Increased erosion rate at the river
mouth.

Which of the above are responsible for
delta formation?

(1)
)
3)
“4)

A and B only
B and C only
A and C only
A, B and C

S0 wemod eurshy Bowodtdod B9nt
BB BOIRIRY SR

A.

Shodn HEeS SedEy Bedrwen
300d Serixy vsdodprdId.

P, BTN 2led Beormed
PAcdTeort o 3s3.

falesy) K039 RBIF VR0
eﬁ)ﬁmﬁd;§d/£aagrb§d.

meos@w@m O3RRBI IABVDLIR
NRoE €08, FOTEPTONTS?

(D
)
)
4)

A 33 B 33
B 3 C a»g
A 3 C 393
A, B &) C

P.T.O.
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50

Which of the following statements

regarding the Tibetan Plateau is/are
correct?

A. Ttis the world's highest and largest
plateau.

B. It was formed primarily by volcanic
activity

C. It influences the Indian monsoon
system

Select the correct answer using the code
given below:

(I) A and B only
(2) A and C only
(3) B and C only
(4) A.BandC

£3236° SRR Bowoprod 3RS odws
Bed8/rieh RO?

A, od B @0l 8:53503 DIVT D) €23
3egmed e,

B. a TBWBION 2RTIRDD
edenIBeIZcnor/Food e B3BAoT

NRRE oG,

C. b w»3383 FPRRR® IPSod e
s VeI,

39S Rote3noon B0 GVIBHY, erobRPB:
(1) A 3 B @ng,
(2) A 3% C &3
(3) B 3 C &ng

(4) A, B &3 C

L-52-2 C

51

Who among the following was associated
with Ghadar Movement?

A. Barindra Kumar Ghosh

B. Jogesh Chandra Chaterjee

C. Ras Bihari Bose

D. Bhupendra Dutt

Select the correct code given below:
(1) Only B

(2) Only C

(3) Only B and C

(4) Only A and C

35 $30BIIRIY IR REIT® BDRPoLI
2N OIPAGTH?

A. WY, HIRT® Feez®

B. alecrtes® wor) sleie

C. 795° Dm0 2dees®

D.  2descog 33

3978 BB BB I3 Ro8e3BRI], roh[ed:
(1) B 3n3

(2) C 33

(3) B @33 C 303

4) A28 C 2e3

P.T.O.

WWW.SHIKARAT.COM
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52 Which one of the following is an

important tribe of the Dhauladhar range?

(1) Abor (2)  Gaddi

(3) Lepcha (4) Tharu

g SONIINTY RID T Beedod

B30 RBRNT?
(1) esedeT® (Abor)
(2) R (Gaddi)
(3) &wmp (Lepcha)

(4) > (Tharu)

53 In India. the dispersed settlements are
often found in the state of -
(1) Uttar Pradesh
(2) Rajasthan
(3) Kerala
(4) Tamil Nadu
00308 Brhdd Ixdrih obed vergBd
3omH2THZ3?
(1) ev3s 3de8  (2) jeplazeony
(3) ¥ (4) 3 @D
L-52-2 C
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Consider the following statement
regarding the peninsular plateau?

a.  Doddabetta is the highest peak of
rastern (ihats

b.  Dhupgarh is the highest peak in the
Satpura Range

¢.  Trimbak is the source point of river
Godavari

d. Mahabaleshwar is the source point
of river Mahanadi

Choose the correct answer:
(1) a, b and c are correct
(2) b, c and d are correct
(3) a, b and d are correct

(4) b and c are correct
Safnrod BeEd BT RowodrTod

33308 BePERIR N

a. cﬁfagzjégi@ BPRE ep—ie%ﬁeécg e;a:{soé 2388
300N,

b. BrzFRo® o3 %ss'éobegd tﬂa’éoé
agdd 3085,

C. go:bomsﬁ ReemxRd I0adh sunsd

“@dmmﬂ.

d. mmm&%’d@ DBID Idad g

IwoN.
RoodRd Hu3TBI), G, e
(1) a, b33 ¢ Ivobend.
(2) b, ¢ D3) d Bk,
(3) a, b D3 d IBobeNS.

(4) b DR ¢ ToobINS.

P.T.O.
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55 Reorganization of the states of India was
carried out on the basis of -

(1) Latitude-I.ongitude

(2) Language

(3) River Basin

(4) Resource availability

83 39AS 0IPPIHB3 eredd Hedd 2PTITY

Do JI0F Don@dSoby, B ?

(1) 503 - Seaood

(2) »

3) 3o =3,

(4) Romde,o o233

56 Which of the following statements are
true?

A. The Peninsular drainage system is
older than the Himalayan one.

B. Peninsular rivers are broad, largely-
graded shallow valleys, and the
rivers are in mature stage.

C. The Western Ghats running close
to the western coast act as the water
divide between the major Peninsular
rivers.

Select the correct option :

(1) A only (2) B,C

3) A,B,C (4) C only

B3 39AS odead BePdnsh Bdoden:s?

A. SBoleeod QeRB 3B FBFodo
HRPoobhy,e3 BLodLeR.

B. Soclesod {esvd 0N DR,
Begd B300E - 9908 IIIRIJ
BoodB, DB IOND T?,FoSFod
B03BDeS.

C. 33D dvexldvodngdde, Jde3sson
230238008003 BB PR
Sobeeod fead SRwe IonY
2ONYILBON FIODLE ABE BRI,

#doded eroh,0bI) sON!

(1) A 303 2) B, C

3) AB,C (4 Cang

L-52-2_C
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Which river is the major right bank
tributary of Brahmaputra in Tibet?

(1) Tsangpo

(2) Rango Tsangpo

(3) Chemayungdung

(4) Kameng

0da3 Dok £33 2@, 23, 3Dod BEvw

J

wokododh euB3DodPN?
(1) =eortBee (Tsangpo)
(2) oyorte myon®Bpee (Rango Tsangpo)
(3)  2dbobortmeor® (Chemayungdung)

(4) wedor® (Kameng)

What type of climate characterizes the
“Death Valley” in USA?

(1) Hot desert
(2) Cold desert
(3) Dry temperature

(4) Tropical monsoon

©Pedd Boodwd T‘Noﬁgdd@é "3 3edS oy’
olna rhod eodvroes rbe@eé\ea Beodnd.

(1) ovg Shdbadean
(2) 3e3 Db
(3) B oS3

(4) evgBocdy RIS

P.T.O.
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59 Match the
objectives :
Scheme
A. DISHA

Scheme

B. Project

VISTAAR

C. Sukanya

Samriddhi

following schemes and

Primary Objective

i. Access 1o justice
in under-served
dareas

ii. Integrated agri.
advisory &
planning

iii. Financial security
for girl child

60 Match the following groupings with their
primary objectives or recent focus areas :

Grouping Focus Area

A. QUAD i, Critical and emerging
technologies.

B. AUKUS ii. Submarine and
Al capabilities.

C. IMEC iii. Infrastructure and
connectivity.

D. SCO iv. Counterterrorism and

FEurasian cooperation.

Yojana

D. PM Fasal v.

Bima Yojana

Insurance for
crop losses

Select the correct code
(1)  A-i. B-ii, C-iii, D-iv
(2) A-iit, B-iv. C-i, D-ii

Choose the correct match :
(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-iii, B-iv, C-i, D-ii
(4) A-i, B-iii, C-ii, D-iv

3INIIRIR, Re®) roRne Red »rd

(3) A-ii. B-i, C-iv, D-iii

(4)  A-iv. B-iii, C-ii, D-i

83 39N oleexdnsh D NGeBRIIY,

RO

aleezd TP evgies

A. DISHA . Rew RS Nat)
odecess 28 3eZrvrt ood

PR ATAPSRER [AY

B. VISTAAR ii. 337 3& 303 DR
Fafelesinleo O3 ReEIATRR T

C. iy oA 1ii. e DFIR BeozodS
odeexd 333

D. PM e v. 239 33 DD
Do oecsss

TRPeDE VGeBRD e adewdrt deod 30T
BBeBNII, (Be3) Beodr:

rhoPrish/ 3eoF3 3e3

A= (3cod e3023)

A. QUAD i QJdmeeodd 23
ORISR
303239 3t

B. AUKUS ii. xewodmeson DD
AlGG33 20R3)
ma)qiér;ﬁqﬂo

C. IMEC i, e TBoberd DR
RODBE

D. SCO

iv. guimne oty 3
3RDARRID DR
odwdaoded F®z3

=boder eu33 o)

(1)  A-i, B-ii, C-iii, D-iv
(2)  A-iii, B-iv, C-i, D-ii
(3)  A-ii, B-i, C-iv, D-iii
(4)  A-iv, B-iii, C-ii, D-i

L-52-2_C

XOOIRG V33 b

(1) A-i, B-ii, C-iii, D-iv
(2)  A-ii, B-i, C-iv, D-iii
(3)  A-iii, B-iv, C-i, D-ii
(4)  A-i, B-iii, C-ii, D-iv

21 P.T.O.
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With reference to India-Afghanistan
relations post-2021. which of the
following best explains India's diplomatic
shift toward the Taliban regime?

(1) To legitimize the Taliban's political

authority internationally.

(2) To prevent Chinese monopoly over
development projects and reduce
strategic vacuum.

(3) To offer permanent military aid to
the Afghan army.

(4) To support the formation of an
Islamic Emirate under Taliban.

2021 3B 20D3 4283 DY) P TV
RoWOPNT 1D303, 83 FAI obesyth
S0P SBYIT 3B 40033 Tews0d 3
WEoeSHod eu3d J3BBodeR?

(1) e©0oze0eg cobeen Zodewarie
=
Tozsdeod) e9RTTRIY
J9,0hodnIRPLDFTH.

(2) ©PIH 0IeexING HedI ¥esord
08759,B%30303y 3B 0INFFo Fo3)
B0hE 30378 Jee 3RJ), 3D SrrdJHrd.

(3) o3 3° 3% 2g3mn ndud Reeod
QerBHd.

(4) @D edobd @D ondees®
B3t ZBBODFHh.

L-52-2_ C
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Match the following places in news with
their correct geographical features or
locations :

Place Feature/Location

A. Pangsau i. Arunachal Pradesh-
Pass Myanmar border

B. Anji Khad ii. Tributary of
Bridge Chenab River

C. Banihal iii. Along NH-44 in
Bypass Jammu and

Kashmir

D. Philadelphi iv. Gaza-Egypt border

Corridor demilitarized zone
Choose the correct match :
(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iii, D-iv
(3) A-iii, B-ii, C-i, D-iv
(4) A-i, B-iii, C-ii, D-iv
$PASINIR DROHODA ZIRE DY) i3 eI
RDOIRT Precvs @3 eFwe méaiﬁ#d;
BRoDL!

'é'-? oﬂm/xgd

A. =ooRR L odhmde U3
3e9e3 Soenie Sodse,0° Ra

B. oo wew®  ii.  e37920° IDad
Reddd NIID

C. Dz i 2o, Hd
e on® 53, 33d3 NH-44

e

D. @e‘)t:!e?_] V. TO-BIR T, faf<Yers!

L el Tle] Re3Vee Ioad

=B T-\‘,oi!eéadzdgl erD;

(1) A-i, B-ii, C-iii. D-iv
(2)  A-ii, B-i, C-iii, D-iv
()  A-iii, B-ii, C-i, D-iv

(4)  A-i, B-iii, C-ii, D-iv

P.T.O.
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63 Consider the following pairs :
Canal/
Waterbody

Connecting Regions
a. Panama Pacific Ocean &
Canal Atlantic Ocean
via Gatun Lake

b. Strait of South China Sea

Malacca & Bay of Bengal
c. Yarlung — Brahmaputra &
Zangbo Sutlej River

Which of the pairs are correctly matched?

(1) aand b only

(2) b and c only
(3) aand c only
(4) a.bandc

8 9IRS toedRIRy SORY:

wd/zmeowen JoIIeDR %dcs

a. B[O — R RBReRTT
FoeNS Reed HLHE TN

) e30835° NI

b. Dos, - T¥e Wege BRG, DR
ZEROH wores &ed

C. opweont -  wBIHI DR
Bpeorie wedes® I

odna Becknidh BDoPN BRoTHZS?

(1) a3 b I3

(2) b DI ¢ Ing

(3) a ™) c INg,

(4) a, b DD c

L-52-2 C
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64

Arrange the following strategic locations
from west to east :

a. Hormuz Strait

b.  Suez Canal

c.  Philadelphi Corridor
d. Pangsau Pass

Select the correct sequence :

(1) b,a,cd
2) a,b,d,c
(3) b.gd>a
(4) byc,a d

3INIJIRT goobe 308, -—Ngaiﬁeé. Gkl
3008 LpREeR 337 docdi:

A REEE BOROD
b. Reobz® senss

C. é;;@rsé.)l_] [.Dlel~<rlen
d.  Bore 3c33 Ine

ROIRG By, 5oL

(1) b,a,cd
(2) a, b, d, ¢
(3) b,c,d, a
(4) b,c,a d

P.T.O.
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65 What was the theme of the United

Nations General Assembly 'Summit of the
Future' held on September 2024 in New

York?

(1) Transforming out world : The 2030

Agenda for Sustainable

Development

(2) Multilateral solution for a better

tomorrow

(3) Building Resilience for a

sustainable tomorrow

(4) Strengthening Global Partnerships

for Inclusive Development

Bowoe 2024 BY Ie,0dnreQ 34
ORI Fesnd, BITeP erdon) "WORT

BoriRey’ ob SR dRod HFAR?

(1) 3D, R3S, SeHEBRDFHT.: ';i)?(gd

we;‘);é%mﬁ 2030 wodberseed (agenda)
(2) ©u3D TeereN 23 au’§§0b Falekssnio]

(3)

:b%}o’ APLarYa a’_raais%s ATIVE 00

(Building Resilience)

(4) ogBdn witeoRd () epgrn

2383 HoenTDENYR) WOBBDIHD.

L-52-2 C

66

In 2024, the BRICS group of leading
emerging economies expanded to include

five new member countries.
a. Egypt b.  Ethiopia
c. Turkey d. Iran
e.  Saudi Arabia

f.  United Arab Emirates

Which countries are among the new
members added to BRICS?

(1) a,b,c,dand e

(2) b,c,d,eand f

(3) a, b,d eand f

4 ac,deandf

2024 B9 Be0BRMN,T &7 e5s FFZod D
A2weay (BRICS group) o Zp= <6z
m%ﬁ@d& AedDRERORD IFDAR.

a. B3zt b.

% aidclecoin

c. 3¢ d. oot

e. 1B wBedode

f.  on3edm® wdw® dudess
DeRoBIRI o Besrsh DR R 237,
m%ﬂ%ﬁ (BRICS) Redzegd.

3
B3

(1) a,bc,ddRe
(2) boc,d et
(3) a b d edRDf
4) a, ¢ d e

P.T.O.
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67 INS Surat. INS Nilgiri, and INS Vagsheer.

all commissioned in January 2025, are
built or designed at which of the
following?

a.  Mazagon Dock Shipbuilders 1.td.
b.  Warship Design Bureau.

c.  Garden Reach Shipbuilders.

d.  Cochin Shipyard Ltd.

Select the correct sequence :

(1
(2)
3)
(4)
83 EAIFINID oY, =IZD 2025 39
*3Ertevad INS Redee, INS deond b

INS SIre3cos, DVIJRY, ADVPED 3T
DIRRNRLD?

a and b only
b and ¢ only
a. b and c only

a. ¢ and d only

A D' @ BB JRecte Aonedmt
(Mazagon Dock Shipbuilders Ltd.)

b. ooy BB deR wede (Warship

Design Bureau)

C. Te@ex® Dees® BREM dRweee (Garden
Reach Shipbuilders)

d. ey Badrb dadwe e davedz® (Cochin
Shipyard Ltd.)

pdeYensnin) VST esOR:

68

69

The world's largest hydropower dam.
under construction by China. is located
on :

(1)

Yellow River near Qinghai

(2) Mekong River near Yunnan

(3) Yarlung Zangbo in Medog region
of Tibet

(4) Yangtze River in Three Gorges
region

2339 Z)a)ﬁbgd)aj %ﬁoescj €23 dmg nw3d
9553&% ) :}ﬁém?\d?

(1)  3eorn®a) 2P0l obelp 30

(2) oclosy® w0k Dzeort® 3D

(3) 33833 Dmwoor® BeBBAI odmensor®
Speorieg

(4) Bt 3063 SBBRAI odwor®edert 30

Consider the following countries :

a. Jordan b.  Saudi Arabia
c.  Syria d. Lebanon
e. Egypt

Which of the above countries have
borders with Israel?

(1) a,bandd only

(2) b.c,dande only

(3) b, dand e only

(4) a,c,dande only

83 20odI TOF RIRy FORER:

a. dApedest b. =8 edeDNoin
c EeYevr) d. Somes®
e. sez%af!

DI odnd m%ﬁv&o R edIpobr} [alalah
BRODR?

(1) azs b 303
(1) a b d 203,
(2) b3 c 3w3g (2) b, d D e 03
(3) a b B c 303, (3) b, d 23 ¢ @ng,
4) a, ¢ by d w3 (4) a ¢ d DY) e Ing,
L-522 ¢ 25 P.T.O.
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70 Arrange the following in ascending

chronological order as per their formation
year.

A. Satyagraha Sabha
B. Awadh Kisan Sabha

C. Hindu Mahasabha

D. Ahmedabad Labour Textile
Association

code :

(1)
(2)
3)
4)
83 SINIJINY Teddoh IR T3 Hv3
53RDZREO) IPAIJHRIIY BRod!

D,C,B, A
C,A, DB
C,D,A, B
A, D, C B

A. ﬁaaé?ié R

B. 3p° §53° 2e»
ooBR Dol

BTN Sewv® s o’
eRRcRHoDeRI®

Rode3:

(1)
(2
3
“4)

D,C, B, A
C,A, D, B
C,D,AB

A, D C B

L-52-2 C
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71

Which among the following resolutions
was passed by the Indian National
Congress in its Karachi Session of 1931.

A. Neutrality of state in the matters of

religion.

B. Election based on universal adult
franchise.

C. Free and compulsory primary
education.

D. Substantial reduction in rent and
revenue.

E. Protection of languages, scripts and

cultures of minority.

Choose the codes given below and select
the correct answer:

(1) A, B,Cand D

(2) B,C,Dand E

3) B,Cand D

4) A,B,C,DandE

3930BJINYY oI Jeee bRy, 2e33cod
Togy cod worker® 1931 3 doeed wRIe3IBY
R RCABTAND.

A, podned NHTRL TR 3&3?‘53

B. =333 3033, Doepm3a Ded
[SVENDIN N

C. o3 D) 3mgod moPpans 330

D. wednt ) domecdnd R, a3

E.

BYT0YIT 2RARD, danD DI
Ro% Bod RovEss:

3t AeBed BodedndIy erdr FHd IDobed
UZTRI, rohRRd:

() A,B,Ca3 D

(2) B,C,DaE

3) B,C=a3 D

4 A B, C,D3IRE
P.T.O.
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72  With reference to the permanent

settlement consider the following
statements.
A. It secures a fixed and stable income.

B. It encourages agricultural enterprise
and prosperity.
C. It creates a class of loyal zamindars.

D. It reduces the expenditure on local
self government.

E. Most of landlords did not take any
interest in the improvement of the
land after settlement.

Choose the correct answer:
(1) A,B,C,Donly
(2) A,B, C,E only
(3) A,C,D,E only
(4) A, B, D,E only

309000 BWEDEYD ﬁtgéﬂ ROWOPARFoS 83 FINI
BePINIRY, R

A, amb B3 D3I 43 ermech JeddD.

B.  ab & v @) Igoby
BRLTDAD.

C.  ad Jsgod wAexToR), FARD.

D. ad zveod godo &BYST ISy
3B Jn.

E. &3 aﬁgacﬁ) 2BIR, wleSRdeEH
2R-ResHR 7R3 LecdrdY.

%D V33 B

(1) A, B,C, D &»3,

(2) A, B,C, E a»3

() A, C,D,E &»3

4) A, B, D, E 3»3

L-52-2 C
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74

27

Jawaharlal Nehru remarked "a machine
with strong brake but no engine" in
context of which below given event?
(1) Act of 1909

(2) Actof 1919

(3) Act of 1935

(4) Cripps Mission

83 39N ol eI Bowohatod
wRBOR® IBD) I "ardeorh
0eZACIRNT 233 oS, BT @t
awd 0bod" ooth &3e323H7?

(1) 1909 3 sechdd

(2) 1919 3

(3) 1935 3 sy

(4) 3=° eo¥e

As per the recommendation of the
Cabinet Mission plan which among the
following statement is not correct?

(1) Six Hindu majority provinces viz.
Madras, Bombay, Central Province,
United Province, Bihar and Orissa
would join group A

(2) Majority Muslim provinces in the
North West would join group B

(3) Bengal and Assam would form
group C

(4) Delhi, Ajmer, Marwara, Coorg
would join group D

5" DRI® odeexSob dFTLI KsT B3

3INI odnad BePs 20 [aQ?

(1) e BoBw WRTo0Y3 D 0ZND -
RToIR, 200, G, @035, Roodnd
2,08, DHO* D) wdTY - @Y A
roo&n Reh3as.

2) soodns; TR R wBed SRt
WPRoaRBODS B rdomy Rech3.

(3)  2ored R emao C rdoart B33,

(4) BRI, e,c0f, o7, dente D
roart Bedrgss,

P.T.O.
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76

With reference to the History of Medieval

India, the Iraqis. Khurasanis and Multanis

denote

(1) Sufi Saints

(2) Officers in the Revenue Department

(3) Traders

(4) Bhakti Saints

P00 0038 @dFoRE, BowoRATFoS,

QoeDFE, aWTIRIeH® A BNRICIIY
Q0T RRBZSAR).

(1) 3ed o3

(2) Boweod aeplodhd) wpEdR

(3) =y=ednD

(4) 238 o3

Consider the foliowing battles in the
history of India:

A. First battle of Panipat
B. Battle of Chanderi

C. Battle of Khanwa

D. Battle of Chausa

What is the correct chronological order
of the following battles, starting from the
earliest?

(1) A-B-C-D (2) D-C-B-A
(3) A-C-B-D (4) B-D-A-C
40030 23BIRBII 83 3INI obatgﬁﬁag
Fifelatan):ty

A, Redode DSz IBI

2Botied IS

o3 333

39% I

$RTEOVT woBoRk 83 FFNI Q'h)tgﬁ“;’ 20 oben
BRI ?

0w

(1) A-B-C-D (2) D-C-B-A
(3) A-C-B-D (4) B-D-A-C
L-52-2_C
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In Mughal Empire, the term ‘sayurghal’

denotes:

(1) Land granted to support scholars,
men engaged in spiritual pursuits,
indigents, widows and respectable

men without any employment.

(2) Tax Concessions granted to

European traders.

(3) Tribute paid by subjugated Rajput

rulers.

(4) Tax collected from Deccan states.

S0Pe® erL3odd meolvot B (sayurghal)

BB DIV ReeRIS?

(1)  degoRdh, &3, 3 wRIchd FerEAHS
RTIRT, WBITY, AFFobTy R
odw)Te DR, DT NP3
PIRTI), WowdRen Do RIead

23RDCRD.

(2) odeTwedodha® TyBRYR 307

DTIRIRY, eI,

(3) 3 IxZe3 Bednd HB3WIY

8350638,

(4) d?&‘ad TggRYor Ror BB 307,

P.T.O.
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78 With reference to the Reformist and

Revivalist movements in modern India,
consider the following combination.

A. Brahmo Samaj., Arya Samaj and
Deoband Movement

B. Prarthana Samaj, Arya Samaj and
Ramkrishna Mission

C. Brahmo Samaj, Prarthana Samaj
and Aligarh Movement

D. Arya Samaj, Ramkrishna Mission
and Deoband Movement

Select the correct combination of
movements in context of Reformist and
Revivalist movements.

(1) A and B only

(2) A and D only

(3) B and C only

(4) C and D only

&EHIE T33Y Reds DI I

BDHIPNEN BowodaBor BRI

RoodeezSndRy, N,

A, wFE 3w, erabe B DY) Beseoord
BDIY

B. =@cm 330x, eobe 330w DB
R WR®

cC. VB, RSB, TR/FET BB )
dF0° BhHRP

D. oobe 30z, voddg wast R
Beadeord BhBY

Do BDB) HIFe3 BBV BowohrEoS

xBodRd Boodeexd Rdid.

(1) A 33 B 03
(2) A D awng
3) B &3 C a3,
4 C ) D w3,

L-52:2 ¢
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29

Who held the opinion that "the extremists
of today will be moderates of tomorrow,
just as the moderates of today werée
extremists of yesterday". o}
(1) Mahatma Gandhi

(2) Lala Lajpat Rai

(3) Bal Gangadhar Tilak

(4) Motilal Nehru

"R0BT RORRND LodS e, )
MounwaNGod, RodS Besd mearish Jedod

PRTORD' - B3 NT,0D CIRTE?

(1) a3, meod

(2) oeon B3 Tood®
(3) ewegdnormrkd 8cos®
(4) Recdepof IBD

With reference to the administration
under the Sultans of Delhi, consider the
following pairs:

a. Wazir

b. Ariz-i-Mamalik
¢. Dabir-i-Khas -
d. Sadr-i-Jahan
Which of the pairs
correctly matched?
(1) a, b,c, d (2) b and c only
(3) aanddonly (4) b,c, donly
359 DRIV woi SBVIE, BowoR2TFoI3

83 39N soerndy, SoRed:

a. oJe3cof - RPDT-R-JesT B ¢
b. ©0e35-2-DDD3® - OePIo-®-c9236

C. WIrT-R-0T° 4 f)mfof-f;z—faag

d. 3o%-m-e@ea® - DDPV-Q-DTOFE
e JeATIT BReBRYY o3k ocd/
RReBRY doIen ﬁ@o&ﬁoﬂ:ﬁaﬁagd’?

(1) a, b,c, d (2) haba’jcai:ag
B) a3 d S8, (4) b, c, d 303

Diwan-i-Wizarat
Diwan-i-Arz
Diwan-i-Insha

- Diwan-i-Risalat -
given above is/are

1

P.T.O.
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Which of the following was not a part of

the Preamble of the Constitution of India?
(1) Republic (2) Sovereign

(3) Socialist (4) Democratic

33 3INI 08 103 RoATIT TFRBIob

RNTADHD?
(1) ﬁeame:s 2) @:392,39;&:
(3) Demd  (4) DRIV, 3

Who described the Preamble of the
Constitution as 'Political Horoscope'?

(I) M. V. Kamat
(2) Dr. B. R. Ambedkar
(3) K. M. Munshi

(4) Dr. Babu Rajendra Prasad

RoNPIT B ReRIobI, "vezdeod

2303330 Rede ARSI 0dth?
(1) 0. Dz

(2) wo. D.eso®. oIR,T®
(3) 8.0, B0

(4) wo. wown DoReol Bmon®

L-52-2 C
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83 Which of the following Articles of the

Constitution prohibits employment of
children below 14 years of age in
factories, mines and other hazardous

employment?

(1) Article 24
(2) Article 41
(3) Article 45

(4) Article 26

RodPIT B 3IAI ode oy dsh) 14
SHRE 403 B30I DI, BaveInh, Red
OB B33 vmohwd NVBRYRRIY Jedd

SRIPRII ORepRII?
(D eﬂd)%ed 24
2) e 41
3) eaabzéed 45

(4) ©nded 26

P.T.O.
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84 Article 323A and Article 323B of Indian

Constitution speak on -

(1) Arbitral Tribunal and Mediation

centre

(2) Competition Appellant Tribunal

(3) Inter State water dispute tribunal

and Industrial tribunal

(4) Centre and State Administrative

Tribunal

2030 RoAFIIT a;ﬂaaé)ed 323A D)

wtirdes 323B o 89R3d.

(1) 6,48 S,0dR80m d) B,Y8 deod,

(2) Read DHee,30 wobeor?

(3) €033 Tz 250 Qe 3cdhedP? DI

%mba‘a aaéobd)odvﬂ

(4) 808, ) ooz, BV Ty obToBY

L‘SZ*ZHC

85

Which one of the

characteristics of a Federal Constitution

following

is not essential?

i.  Distribution of powers

ii. Supremacy of the Constitution

iii. Unwritten Constitution

iv.  Rigidity

Select the correct answer using the codes
given below :

(1) 1iand ii
(2) ii and iii
(3) iii only
(4) iandiv

RBAVEP RoDEIB HOD 8 NS TorLdERID
IR wIRIRe?

L. D508 Bowd
il.  RodPIT 3ex3
. ©ONI Roams
iv. 303

feTan] ?‘oo&éﬁ#d% wWYBE R0 TOAIRG VIR
eroddeb:

(D) i3y ii
(2) i D3 iii
(3) iii 3n3,
@) i3I iv

P.T.O.
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Which one of the following cases is well
known as Mandal Commission Case?

(1) State of AP V. U.S.U. Balaram
(2) Indira Sawhney V. Union of India
(3) AXK. Gopalan Case

(4) Bank Nationalization Case

83 39N3 oI FF0esy oBdeF IR
B3BeeSord ddobeRrdn?

() RAEF ©F° 2.8, e':)d)lg odw. 5%, adw.
LTI

(2) =008 Tk, T3 WG 23T 2.8m,63
3) &8 Recoeox® ©,33e0

4) 239,08° U‘a%@éﬂ&) %808

The 74™ Amendment of the Constitution
of India deals with -

(1) Centre State Relations
(2) Urban Local Government
(3) Rural Development

(4) Welfare of Women

279038 Roaesxd 74 3¢ 3DHB cdpIE3 LATA
I3BORIA?

(1) 3eomd DI TozyRe Rozoy
(2) 33 3vead Bom3
(3) hgmemz:)s.’é%

(4) SDBve o

L-52-2_C

88 Match List-I with List-II

List-I List-I

A. Control over States I. Article-235

B. Contingency Fund 1II. Article-114

C. Control over III. Article-267
Subordinate Courts

D. Appropriation Bills IV. Article-257

Choose the correct answer from the
options given below :

(1) A-II, B-II, C-I, D-IV
(2) A-1V, B-III, C-1, D-II
(3)  A-IL, B-I, C-IV, D-1II
4) A-II, B-1V, C-II1, D-I
Je3-1 3 Be3-11 BB Becdd2d:

aﬁk&-l 6%—11
A. Ua&%ﬁ@ =esd I. esabzged-BS
30330%89

B. RORD P IT. eja?ozgcd-llél

C. B3 myoimoodrs 1L wwees-267
Bed dobodeo

D. 383 ado%eer V. e:);baéeci—.?S?

APeohB

391t AedHB ahrivod Fdabed evIdI)
D!

(1) A-III, B-II, C-I, D-1V
(2) A-1V, B-III, C-I, D-II
(3) A-IL B-I, C-1V, D-III
4)  A-IL, B-1V, C-111, D-I

P.T.O.
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89 Who was the first architect behind the | 91 According to Chief Economic Advisor
Panchayat Raj System in Karnataka? Krishnamurthy Subramaniam (Indian
(1) Mahatma Gandhi Economic Survey 2020-21), what is the

(2) M. C. Raja shape of Economic recovery?
(3) Dr. B. R. Ambedkar

(4) Nazeer Sab (I) U -shape (2) S - Shape
BoOE B3R DoeIwoh3® ot a%déoi) LoD

R 3 odbeth? (3) V - Shape (4) Z - Shape
e 3 aleay;

(1) D3, ™o0h R0y, &RPET BT dadhede *abfegabeaéo
(2) 0. &, Doz (Indian Economic Survey 2020-21) 50
(3) w@o. D.es0", ©9023cd,0° 23 e3e3ddod BBRTReD?

(4) SoneT® w2k (1) ov-e®d3 (2) oxf - wsd

90 Match the following : (3) & - es53 (4) Bpm® - esmT
Yojana Year
i. Nirmala Gram Yojana a. 2003
ii. Jal Nirmal Yojana b. 1996

iii. Akshara Dasoha c. 2005-06 92 In which economy. do consumers and
producers make choices based on market
Scheme forces of supply and demand?
iv. Yashashwini d. 2002 PPy '
Choose the correct option from the (1) Market economy
following codes:
(1) i-c, ii-b, iii-a, iv-d (2)  Open economy

(2) i-b, ii-d, iii-a, iv-c

(3) i-d T8, i, iveb (3) Controlled economy

(4) i-a, ii-b, iii-d, iv-c (4) Command economy

BRoDE WBAVD:

Aoezsd Site olnd erPedZobd MEID D) VF B
i dro @ oleesd  a. 2003 ;"effjfﬂz:@ijﬁ 349 ereoa
. %o dRre oleexs b. 1996 =

iii. 30 wodee® oleexd  c. 2005-06 (1) Sechided epedd

V. obdaR d. 2002 @ o wecis

89N Rode3rvor RBoING U3TSIY, D -

(1) i-c, ii-b, iii-a, iv-d

3) Qobod 3 erpedd
(2) i-b, ii-d, iii-a, iv-c

(3) i-d, ii-a, iii-c, iv-b (@) ommos wpeis
(4)  i-a, ii-b, iii-d, iv-c
L-52.2 ¢ 33 P.T.O.
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93 Consider the following statements | 94 Consider the following statemen

regarding 'Aspirational District
Programme' (ADP) :

a. ADP launched in 2018 aims to
quickly and effectively transform
112 most under developed districts
across the country.

b. The broad contours of the
programme are Convergence
(Central & State Schemes),
Collaboration and Competition

among districts through monthly
delta ranking.

Which of the above statements are
correct?

(1) a only

(2) b only

(3) Both a and b

(4) Neither a nor b

"Bo@TYTOOY, WO so0ded " § (ADP)

Ro2oRRBOB B EINI BePERIIy, Soredy:

a. ADP od» 2018 39 @ Jordmend.
Be3BSBoDITER 98¢ B2 GoHPRDEI
112 293y, Begd oA T
TO@DFVOOIPA Frewmoe BAS THDODIY
BrodT.

b. g3 a‘aoﬂbsgahci dma)ﬁ @ugeéﬁeﬂocid

2B, HRPPDFH T (Beoq, R Towy
odrezdnisd) ﬁ&mﬁ%, Foro 023 cSeé
o9,080m® (delta ranking) Swowd Joal
3RS BPe IBDJD.

83 2Ded3 oIed BeRdRdh BoIPNS?

(1) a 3w

(2) b R»3

(3) a3 b o8dde

(4) a ogse b aBde v

L-52-2_C
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regarding the India Innovation Index and

the Global Innovation Index (GII) :

a. The India Innovation Index Report
examines the innovation capabilitieg
and performance of the states apg
union territories in India.

b. In the 'Major States' category,
Karnataka continued to occupy the top
position in India Innovation Indey
Report 2021, followed by Telangang
and Haryana. }

c. Global Innovation Index (GII) was
first launched in 2010 to broaden the
view on innovation. o

d. India has achieved a significant
milestone in the Global Innovation
Index (GII) 2024, securing the 39th
position among 133 global economies.

Choose the correct answer below :

(1) a and b only

(2) a, b and d only

(3) b, cand d only

(4) c and d only

4908 o33 (Innovation) Rpo8 X

2133 F0dF 3 Beedodd, (GII) Boweprme

83 39N BeVIRII), BORD:

a. 383 aa&)déé ARos SBRody 3RTE3
ToRNY TR 3ot BYS FPeInd
DEMARACE RRDFERSD DR
BObEPIoDRY BOBeHRIT.

b. BR0w venRe IRIRBY, 27003 A
Reod @B 2021 T dmerwdd
ORRIVY oIS wormm DY)
BOOIRED T, IRDDII,

C. P33 aaéh%a:) :-fua?%oé (GII) 3 2010
89 SAJT Gyobdy dFpRey IeudN
@dozﬁﬁmﬂa’g.

d. wRB3Y 133 eworisd wpes Jgnied 39 &
RIS, BAD, e @ Reedod
(GII) 2024 BY 2BIB Frsody O,

83 39N3I IDIRE GBIy, O

(1) a3 b dws,

(2) a b d3Ing,

(3) b, c DD d 3n3

4 ¢ 2R d 3wy,

P.T.O.
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95 The key objective of Swachh Bharat

Mission - Grameen (SBM) Phase 11 :

a. Sustaining the ODF status and
managing solid and liquid waste by
2029-30 and transforming all the
villages from ODF to ODF Plus
Model.

b. Improve the level of cleanliness in
rural areas through solid and liquid
waste management activities,
making villages ODF Plus. This
includes, ODF Sustainability, Solid
Waste Management, Liquid Waste
Management and Visual
Cleanliness.

Which of the following option is/are

correct?

(1) aonly

(2) b only

(3) Both a and b

(4) Neither a nor b

7’,_;,&3 308 DRI - Tw,eveed (SBM) &03 11 3

2080 décoixacdmeé;

a.  2029-30 Jevrt ODF 330333y
DRBReVDIHD wore FI D) 33
F,BIY AVE HLRIFT) ToONR DR
sy ODF dod ODF g5° Swnadrt
RIToE BRJHTD.

b. 3BYnII ODF F=° I93d S,
#3 (Solid) D) IR ey JSe BB
SRBB Sewd e I TBNIO
g 3od B3Ry, v, b ODF
2433, F3 (Solid) =9z e @B, T
ZR,% IREBS Torie RecedB BeddodbIy
(Visual Cleanliness) 2.909)30.

83 $INI o erady, BDoIING/S?

(1) a 33

(2) b 3w

(3) a3 b a8@e

(4) a egs b a8de @

L-522 ¢

96 Consider the following statements with

reference to 'Pradhan Mantri Surakshit

Matritva Abhiyan' :

a. The Pradhan Mantri Surakshit
Matritva Abhiyan has been
launched by the Ministry of Social
Justice and Empowerment,
Government of India.

b. The program aims to provide

assured, comprehensive and quality
antenatal care, free of cost,

universally to all pregnant women
on the 9t of every month.

Which of the statements given above is/
are correct?

(1) a only

(2) b only

(3) Both a and b

(4) Neither a nor b

‘TPe3F08, DT Fedd o §

RowoPHe 83 IINS BePInRIJy SONRed:

2. B30 BB IR eobeSBIY,
QP03 RPETT o033 Jg0h Iy
R2deddee Doz wob erBoR.

b. & odeFDPH B3¢ 3onv3 9 o
QR NPeed R codbdre B8SR, IR,
D) RoreRen SISJeBe ooBaby <
o33 BOEG IBE &HRB THD DI
PoDT.

83 edI odnx BePind Idobendd/

2DodeAS?

(1) a 393

(2) b I3

(3) a R b o8@e

(4) a egme b odrde v

P.T.O.
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97 Which of the following are the 'Union

Budget theme of 2024-25'?

a.  Employment
b. Innovation
. MSMEs

d.  Middle Class

¢.  Skilling

Choose the correct option :
(1) a.b,candd

(2) b,c,dande

(3) a,c,dande

(4) a.b,c, and e

33 39N oY 2024-25 B o), w0k
3% dBobeenE?

a. emzifaseﬁ
b. m&déé
C. MSMEs

d. gD Ine

e.  F3e BB
2DoIRd erod,ob, B!
(1) a.b.cdRHd

(2) b,c.dDHe

3) a, c,ddDRhe

(4) a,b,c D3e

L-52-2 C

98 Consider the following Statements

ﬂb(}ut

Union Budget 2024-25 :

a.  Productivity and Resilience iy
Agriculture

b. Inclusive Human Resource
Development and Social Justice

c. Defence and Military
Modernization

d. Innovation, Research &
Development

Which of the following are among the
9 priority areas for creating ample
opportunities for all as outlined in the
Budget 2024-25?

(1) a, b and d only
(2) b, c and d only
(3) c and d only
(4) aand c only

2024-25 g 3eor, 2023:3° DOI B3 39N
ﬁc@%ﬁ#ﬁg DN

2. 3a0bd evmsss mone wBe3vs

b. 29tRR (Inclusive) 333 Zo=34,0
ORFR D) ToTeR3 39,0D.

C. ﬁi:ﬁ DB WD ereITeD

d. @3, Bodewgs D) LD

8 IINIIRIO oy wedese 2024-23

89 RN HBDRRTBo3 SedRR IYO
O[RIRIR, FRRB 9 ez fe3nvond?

(1) a,bad S3,
(2) b,c D% d ang
B) ¢ 2 d Ing,
) a3 c I3
p.T.0-
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99 Which of the following is/are part of the

17 United Nations Sustainable
Development Goals (SDGs)?

a. Zero Hunger

b.  Affordable and Clean Energy
c¢. Clean Water and Sanitation
d. Space Exploration

e. Reduced Inequalities

Choose the correct option below :
(1) a,b,cande

(2) b.dande

(3) c.d,eanda

(4) b,c,dande

B3 39AI oIJd/H 17 oI ede® ﬁcﬁaﬂ:‘ﬂ%ﬁ
o 701 (SDGS) erizenss?

P

303, B2 (Brd 303

b.  PoRwPE D) DG 2oL (Clean
Energy)

c. g e DD Fhee

d. WeEE3 IDRRTI

€. RIRIZRIIY NI

83 9N XBoIT erodobI) esOr:
(M
(2)
(3)
(4)

a,bcdde
b, d &3 e
¢, d, e 3 a

b,c,ddo@e

L-52-2__C
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100 Consider the following statements about

the 'Stand-Up India' Scheme.
a. It provides loans ranging from ¥ 10
lakh to ¥ 1 crore.

b.  The scheme is aimed at Women and
Scheduled Caste (SC)/Scheduled
Tribe (ST) entrepreneurs.

c. It includes large corporations and
industries as eligible beneficiaries.

d. Farmers and agricultural workers

are key beneficiaries of the scheme.

Which of the above statements are -

correct? Select the appropriate option
below :

(I) aand b only

(2) b and c only

(3) c and d only

(4) All the statements are correct,
"D, (07° ©p® wokade” (Stand-Up Scheme)
oleend 203 B3 $IAI BevdndRy IORBL.

a athde 10 e)irie.?od TBw. 1 dece3ns
ejaty] ORI, 2.BAI.

b. 85 oleedadn Swpdobd DY) F0dF
w08 (SC)/803] IoraEs (ST)
SVUTHBeeBRy, OB AR,

C. =, 3 JdIanwen deg
RoFRH DY) FOIRII wireods.

d. B3 DI & 3oRmedd oleexdod
CINEY g‘;e)ad:zd:}rivaﬂmgd.

DedI oIS Bewdnsh WodAR? B3 3RS

BOOIRT erobobhRy GO i

() a3 b 3w,

(2) b c 3n3

3) ¢ D3 d 3ng

(4) oo Bevdnd FoodPNS.

P.T.O.
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L



# | DO NOT QPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO 50 C

. Question Pnﬁer
22 2025
=E Question Paper
« 57 - Version Code
3 | es6 |
g — W
58 GENERAL KNOWLEDGE PAPER-1
Maximum Time: 1 2 Hrs Maximum Marks: 100

INSTRUCTIONS

Immediately after the commencement of the Examination, you should check that Question Booklet does NOT have any
unprinted or tom or missing pages or question etc. If so, gef it replaced by a complete “Question Booklet’ of the same
Question Paper Version Code as printed in your OMR Answer sheet, If candidate uses faulty question paper without
checking the pages of question paper, then candidate himself shall be held responsible. :

Read the instructions on the OMR Answer Sheet and Admission Ticket.

The candidate shall ensure that Question Paper Version Code of the question booklet given is same as the question

(5]

paper version code printed on OMR answer sheet. If any discrepancy found it should be reported to the invigilator *
and get the same Question Paper Version Code as printed on the OMR Answer sheet.

4. All questions carry equal marks. : #
You have to enter your Register Number in the Question -

Booklet in the box provided alongside. DO NOT write Register Number ; i 1 i
anything else on the Question Booklet. { | [ | 1 - !

6. This Question Booklet contains 100 questions and each question contains four choices. Select the response which you want b
to mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the response which you
consider the most appropriate. In any case, choose ONLY ONE RESPONSE for each question. If the candidate encodes j
more than one answer then that answer shall be considered as INVALID.

7. Questions are printed both in Kannada and English. If there any confusion in the translation of Kannada questions candidate .
shall refer the questions in English and understand the questions.

8 All the response should be marked ONLY on the separate OMR Answer Sheet provided and ONLY in Blue Ball Point Pen.

9

The candidate shall ensure that the Question Paper Version Code printed in the personalized OMR Answer Sheet
matches with the Question Paper Version Code printed on the nominal roll. In case of any discrepancy the candidate
shall give declaration regarding the actual Question Paper Version Code used by the candidate. If the candidate fails
to give such declaration then the version code printed on the OMR answer sheet shall be considered for evaluation.

In case if candidate uses the personalized OMR Answer Sheet belonging to another candidate then the OMR Answer Sheet

shall be considered as INVALID. :

The candidate shall affix his/her signature in the Personalized OMR Answer sheet in the space provided without fail. If the

candidate fails to do so, then such OMR Answer Sheet shall be considered as INVALID.

12.  In case if the candidate uses the Non-personalized OMR Answer Sheet then the candidate shall write the Register number
and version code in the space provided and encode the relevant circles. Also the candidate shall affix his/her signature in the
space provided. Ifthe candidate fails to do so then such OMR Answer Sheet shall be considered as INVALID.

13.  The candidate shall sign in the Nominal Roll (Attendance Sheet) without fail.

14.  If the candidate violates any of the above instructions, then the OMR Answer Sheet shall be considered as ‘INVALID".

15.  Immediately after the final bell indicating the conclusion of the examination, stop any further markings in the OMR Answer

Sheet. The candidates shall not leave the examination hall till the OMR Answer Sheets are collected and accounted for by

the Invigilator.

The candidate shall retain Carbonless copy of the OMR answer sheet (candidate copy) till the announcement of final list and

incase if the Commission directs the candidate to produce the candidate copy, then the candidate shall produce the same

without fail. :

17 Sheets for rough work are appended in the Question Booklet at the end. You should not make any marking on any other part

of the Question Booklet.

Penalty for Wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which wrong answer has been given

by the candidate, one-fourth (0.25) of the marks assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers happens

to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank i.e., no answer is given by the candidate. there will be ne penalty for that question.

Possession of Mobile Phones, Smart watches, Calculators and other Electronic/Communication I
. __gadgets of any kind is strictly prohibited inside the Examination venue. B |

WD XTI o3a @gdotn & JF, hdal Twogenog SOIOLD.
L-52-2_C 40

WWW.S T.COM





{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

